09.07.21 - Maths — Learning Task
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Calculate the answers to these questions — the formal column method has been laid out for
you:
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Complete the following calculations using the formal column method - use the squared
paper on the next page

a.4,567 - 2,757
b.9,845-1,328
C. 6,734 —-5,262
d.9,153 - 8,221
e. 6,999 — 909

Can you find out what the missing digits are in this column me
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Logan was practising subtracting using the formal column method with two four digit numbers

His larger number had a digit total of 35.
His smaller number had a digit total of 2.

What could Logan’s calculation be?

Challenge can you find more than one answer?




